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1 Population

(a) Study Fig. 1 (Insert) which shows the percentage of population aged over 60 by county
and unitary authority in southern England, 2001. Fig. 2 (Insert) shows the county and
unitary authority names.

(i) Describe the pattern of population aged over 60 in southern England shown in
Fig. 1.
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(ii) Suggest reasons for this pattern.
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(b) Fig. 3 (Insert) shows that death rates in some LEDCs are lower than in some MEDCs.
State and explain one possible reason for this.
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(c) With reference to one named country, describe and explain its uneven spatial
distribution of population.
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2 Rural Settlement

Study the 1: 50 000 OS map extract of part of eastern Scotland.

(a) (i) What is meant by the term site of a settlement?

...................................................................................................................................

...............................................................................................................................[2]

(ii) With reference to specific evidence from the OS map extract, state two possible 
reasons for the site occupied by Rait (2226).

1 ................................................................................................................................

...............................................................................................................................[2]

2 ................................................................................................................................

...............................................................................................................................[2]

(b) Using evidence from the OS map extract, suggest reasons for the low order of Rait in
the settlement hierarchy.

..........................................................................................................................................
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(c) Compare the shape and layout of Longforgan (3130) with that of Inchture (2828).

..........................................................................................................................................
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(d) The settlement pattern in the lowland area of the map extract, the Carse of Gowrie, is
predominantly nucleated.

(i) What is meant by the term nucleated settlement pattern?

...................................................................................................................................

...............................................................................................................................[2]

(ii) State and explain two possible factors which lead to the development of nucleated
settlement patterns.
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3 Urban Settlement

Study Fig. 4 (Insert), a Goad Shopping Centre Plan for part of Norwich Central Business
District (CBD), 2003.

(a) With reference to Fig. 4, describe the main features of the commercial land use.

..........................................................................................................................................

..........................................................................................................................................

..........................................................................................................................................

..........................................................................................................................................

......................................................................................................................................[4]

(b) Explain why there is a tendency for commercial activities to concentrate in the CBD of
cities in MEDCs.

..........................................................................................................................................

..........................................................................................................................................
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......................................................................................................................................[6]

(c) Explain why out-of-town locations have become more attractive for commercial activities
in MEDCs in the last 30 years.

..........................................................................................................................................
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(d) With reference to one or more named urban areas in MEDCs, describe and account for
the growth of distinctive residential areas.
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